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(A) y=x-3; (B) y=x>—(x+1?; (C) y=x(x-)-1, (D) y=x—12.
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(A) i (B) 5sina ; © > ; (D) 5cosa .
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(A) a/SB/c: (B a=2¢5=3¢; (C) 3—_55: (D) \5\=2\6\.
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(A) 3; (B) 2.5; (C) 2.4; (D) 2.

6. W, MAEAABC H, & D. E4rjlfEil AB. AC I, DE/BC, AD: BD=2:1, s F
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(A) 1:2; (B) 1:3; (C) 2:3; (D) 2:5.
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(1) W AB=aAC =b. &/ ab®*~ AE:
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(1) RERE: BF fK;
(2) 3k AE: EC HIfA.
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L 4nVUilJE ABCD #1, ~/BAD=./BDC=90° , BD?=AD-BC.
(1) RiF: AD/BC;

(2) 5 AYEAE/CD 32 BC TS E. iExEREHRIE: CD?=BE-BC.
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24. CKREWSr 12 57, R/ME 45
IR, LEST I LA ARER & xOy H, LR y = X + bx + ¢ FIXTFRAICN ELZL x=1, JPILR5 x Hi
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(1) RZ:Bx CD HK;

(2) 5 P 1ECD MREKE |, H /PAB=45° K, K CP [Hy;

(3) it M il AB i A, BESE CM. PM, A ACMP 2=, K CP K.
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1. C; 2. C; 3. A; 4. D; 5. C; 6. B;

7. 2; 8, 300; 9. a<-2; 10. 30; 11. 5\/5_5; 12, %; 13. ?;
15, >; 16, y=x2—1; 17, -2; 18, 2\3{50

, 1
19, (1) y=x"-4x+3; (2) 5

wr  or qr

20, (1) AE=—a+=b; (2) 4,

3 3
21. (1) 5; (2) 5;
22. 8.1 b
23\ EH%;
24, (1) y=x"-2x-3; (2) E (1,4); (3) t=4;
25. (1) CD_Zﬁ; 2) cp_3f; (3) cP= 3*[ f ;g

EiHERIE : 4000-121-121



